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45211229 shtwpwpwhwh woliwwnwlpik; ubph bwdwp 92 npuy B 1 .
45211229 shtwpwpwhwh wolhwwnwhphbp gupagbbph budwp 92 gpwy = 1 *
45211228 shtwpwpwlwi wolwwwbpbbp Ywilwywpnbqbbph hwdwn Q2 npud 16,231,184.0 1 16,2312
45221142 pinhwinip shiwpwpwhmb woliwnwbphbp 9z npuy 1,695,550.0 1,695.6
45221142/1 winip shbwpwpwhwb wrlwwwbpbbp 92z npwi s i
45231126/1 nonguwh njmbw b wonigdwh wohwwnwbphb 9 npud 3 2
45231126/2 oonguwh ngadwlhwowpbph junnigiub wownnwbpibp 9 npuy " 1 2
45231126/3 nongiwh ungnjwhw b wonigiwh wohwuwbpbbp 9 gpud . 1 3
45231126/4 nonguwh unnnjwlwowpbph juongdwh v.lz[gu.n.nuahg'lﬂm 92 npund N 1 e
45231126/5 nonguwh jungajwhwowpbph huonigiwh w: hplkp Qz gpwyd ¥ 1 ’
45231126/6 nonguwh ungowhwowpkph !Iumnl.glim'h wohwwnmbiphkip Q. npwd s. 1 '
45231144/1 Ynjmungm hbwn Ywwjwd wy QL ppund N 1 *
45231144/2 Ynjmym hwa I.|u|u.|1|lu|‘1 mﬂuumlu.l[igﬁhp Q2 npud * 1 5
452311443 Ynjoignt hbn Juwdwd qz ppwd = 1 i
45231187 uwjmhmndwh b mubml\nmgmlmimh wohuminwbplbp 92 npud 6,989,810.0 1 5,989.8
45231216 thonngunhb jwhnuph wkquwnpoud Q2 npwyd * 1 *
45261124 mwGhpGtph Jbpwlnpngdwi wyiuw b Q2 npud 7,423,210.0 1 74232
45261124/1 wwlhpGbph Jbpwopngiwl wzjuwnwipibp Q2 npud 10,773,100.0 1 10,773.1
45261124/2 mwbhpGbph Ybpwlnpngiwl wiluwnwGpGhn Q2 npud 18,689,220.0 1 18,689.2
45261124/3 nwhpGlph Ybpwinpngiwt wyluwnwGpltp Qz npud . 1 ‘
4523112771 widplweptnh hhnwg i oy w lwzwnb wongdwl wrfuwunwipib Qz u.llJ M I "
45231129 gtomgdwi hbwn i Jwd wyluwmwlpGhp Qz npuny 9,314,570.0 1 3.314.6
45231129/1 phiomguiwl hbwn 0 wyluw pltp Q. npud 7,488,530.0 1 7,488.5
4523112972 phanigdwi hbw Jwupwd wyh GpGkp az npwd 3,383,410.0 1 3,383.4
4523112973 ok Sl htw huﬂu]_ma wfuwnwGplbp Qz npund 9.878,720.0 1 9.878.7
45231129/4 ghinmgiwd htin 0 wyluw plikj Q2 npuyd 12,912,164.0 1 12,912.2
45231129/5 915 omgiwh hbwn Juwws wﬂummmﬁgﬁhg Q.2 npwd 5,014,415.0 1 5,014.4
45231129/6 ok Jwli hbw Juwdwd wyuwnwiplbp Q2 npwd 6,336,769.0 1 6,336.8
4523112977 thmg\h.uti hbw Juugdwd w; Lp Q2 npwyd 14,419,283.0 1 14,4193
45231129/7 ghnmgiwG htwn wyuwwnwiplibp Q2 npwy 24,292,730.0 1 14,292.7
45231129/8 ? bt jwwwd wt bp 92 npuy 23,613,770.0 1 23,613.8
45231129/9 Phiomigiwl hin Jwuyud wah Lp Q2 npwy 15,854,100 1 15,854.1
45231129/10 ghomgdwl hbwn jwwywd wiluwnwlplbp 2 npwy = 1 B
45231129/11 | pbomgdwG hbw yuugwd wy Gpibp qz npud v 1 v
45231131/1 I lunnnywiwywnbph htnn Guiwgfwo wy plikip Q2 gpmy 2,687,970.0 1 2,688.0
4523113172 ? funnogwyupwnpbph hbwn Gugdwd wyf plbp Q2 npuil 6,931,370.0 1 5,314
4523113173 o L § jwhuzwnbph htua § w plkp qz npwy 11,101,310.0 1 11,1013
45231131/4 ) y fwk wpbph hbw Guwdud w} b qz ppwd 24,299,060.0 1 24,299.1
45231131/5 gpwd wi unnojwiwwpbph htn yJuwd wyh plbp QL npud 1,121,470.0 1 1,121.5
45231131/6 ppwd funqojwlwpwpbph hin Yuupjwd wyh n G2 npwy 2 1 ?
4523113177 gpwd piwi unnnywlwywpbph bt juwgwd wh Gpltp 92 npwy s 1
4523113178 91 niwl funnoywlwywpbph hbn Ywedwd w) Ghip 92 gpund . 1 .
452311319 A )i Juwzwphiph hbn wpf pltp PU mpud 4 1 =
45231131/10 | o puwG f uwpwpbph bbw Guugwd wy Gilp a4z ppwd - 1 .
45231131/11 9 pbiph htn Yuuwpfwd wy Gtp Q2 ypwd = 1 *
45231131/12 ppwd D Junnojwlwzwpbph hn Quugwsd wpf plitp Gl gpud = 1 =
4523113113 ) Tuagawlwzwpbph hbn Juwuywe wyh Lp qQz ppud * 1 N
45231131/14 ppuw: funnoywlwzwpbiph htn ugdwd wyiwnwlpitp Ql gpuid * 1 .
45231131/15 Junnoygwlwrwnbph hbw juwywd wpuwnwiplbp 9z qpwd * 1 ¥
45231131/16__ | ppwiwwmuly i 2wpbph b Guigud w, Dty a2 qpud 5 1 >
4523113117 | 9 pupiwd fu wpbph hbn Gwygwo wyh P qz qpud z 1 G
45231131/18 gpuii jupwpiw fjunnowlwwpbph htn Y wh plibp Q2 npud - 1 d
45231131/19 9T wi junnoywlwywpbph htn 0wl plbp Q2 qpud s 1 &
45231131720 97 Yupwpdwd fu Ywzwnbph htan Y 0wy L Q2 gpwd - 1 ¢
45231131721 | op piwG onoqwlwzwplph bln W - qz jpud . 1 .
45231131722 | gpun i 2wpbph hbm Ywwywd w)) Gplhp qz qpud . 1 .
45231131/23 1! niwd wpwpbph htn Yy W) ipGp G2, gpud " 1 5
4523113124 9p Y pwpdw Jwlwywpbph htun Juudwd w, Gplibp Q2 npund * 1 N
45231131/25 Fa ngwlwywpbiph bbim Yuydwd wriwnwiplbp Q2 npud y 1 '
4523113126 9 Jupwp v wpbph hbm Juupwd wah (itp 92 npud 1 x
45231131/27 PR fuonnywiwywptph bom Juwygwd wzluw, pGkp Q2 gpund * 1 :
45231131/28 Fa wpwp Juanowywzwpbph bbun Juuygwd wpluwnwiplbp 92 gpwyd * 1 >
45231131/29 9 1 Junnojwiwywpbph bbn juywd wiuwnwiplibp Q2 npuni * 1 >
45231131/30 9 Swl [unqmll.ul.]luzmphph hbn Quwygwd wl plhp Q2 gpud 2 1 .
45231131/31 | gpui 6 funnoduilywywpbph hbm Gwulwd wl pGtip aQl npad . 1
4523113132 |9 [ nbph hbun Gungwd w) Gtp EU npuwd G 1 .
45231131/33 PR | 1 Ywzwpbph hbn Juupwd wy Gkp QL npul " 1 g
45231131/34 ? i ungnywlwywnbph bt | i b Q2 npunl b L




45231131/35 |9 puipdwi nbnh hban Guiapjwa wat Ghp qz o - 1 .
45211143/1 op Yt png; Ly L wy 0 Q2 fpuwd 9,980,410.0 1 9,980.4
4521114372 dwpqulwb opjbyubtph Ytp L 1 wgh Gpltp Qz npud N 1 N
4521114373 Uwpquiws opjbijnbbph Jbpwinpngiws b vywuwpidwi wyunubpip q2 npuwd . 1 -
45231216 1b6 who jph wbnwnpong Qr npuy . 1 -
45231177 Swhwwywphbbph Jkpwbnpngiwh wpluwnwiphkp 92 npuni 28,825,010.0 1 28,825.0
45231177/1 Ewhnywphbbph JEpuwinpoquwh woiwwnwbphtp QL fpud ' 1 .
45231177/2 Swiuyuwphibph Jkpwbnpoquwl wlumwmwbphbtp az npund . 1 =
4523117773 Swluguphbbph JEpwinpoqiwb woluunwlphkp 53 npud : 1 Y
thunpwirbunwdwihb wohwnwbpbkp skonigluwb b sktipkph wy Hbwpwlwh
45311129/501 :Lm:i\pil.]njmu[hh;l]i wbnupl hu.ul'lip [ apul | 16841670.0 i i
50751100 YEpbpwhbkph ywhywbdwh b {bpwbopoqéuhb wrounnwbpikp 74 npwy * 1 o
dwpwn pymbbkp

71351540/1 ubpbhjwluwh (Epuhulnnnipul Suownipymbikp ¥] npwd 53,759.0 1 53.8
7135154072 nblubhiwlul (Epubolagoipjub fwowmpmbbtp Q. g 186,292.0 1 186.3
7135154073 ubbpiwiwh (Epwbhuljonnipjwh dwewnipynibikp qr gpud 373,784.0 I 373.8
71351540/4 wbjubhjwlwh JEpwhelonnpmb Swowpnipnibbip Q2 npwd 148,464.0 1 148.5
713515405 ubpbhiwlwh JEpwbulpqnipwh dwunwnipinithtp Y] npud 67,668.0 1 67.7
7135154076 nkubhjwiub (Epuhuljannpjub dwowjnipnibbbkp Q2 pwd 14,977.0 1 15.0
713515407 nbkpubhjwlwh JEpuwhulpnnpjuwb dwowynipinbikp Qz npud 2883850 | 1 288 .4
71351540/8 [ubpbhjwlwb (Epwbulnnnipjul dwownipynbibkp G2 gpwy 1975740 | 1 197.6
71351540/9 nbpbhjulwh JEpwhunnnipul hwowpnipmbbEp qz gpmyd 138,627.0 1 138.6
71351540/10  [ubpbpjwjuwb (Epwholngntpjub dwowmynipymibkp Q. npud 258,243.0 1 258.2
7135154011 [ukpbhijulwh Epwhulnnnipjwh dwowynipim ik qz gpud 100,288.0 1 1003
71351540/127  [ukjbhjwlwlh (Epwhelonnipjub dwowjoipnibblp Q2 puwd 485,854.0 i 4859
71351540713 | mbpubhymlwh (Epwbulanatp)wh swow)aipjaiihkp a2 qpud 222,026.0 1 222.0
71351540/14 nkpbhjwiwh JEpwhuljonnipjub dwnwpnipo bk [-¥] gpwd 215,462.0 | 1 2155
71351540/15  |wkpbpiulwb JEpwhuljnnnipjul dwowjnipynibbbkp Y] il 336,833.0 | 1 336.8
71351540/16  |wbjubhjuiwlb JEpwbuljnnmpjul dwowpn pymbbkp qz il 324,623.0 | 1 3246
71351540717 [wEfbhjuiut Epubuljonoipjwt dwownipmbhkp Y] npwd 126,735.0 | 1 126.7
71351540/18  [ukpbhjwiwb (Epwhulnympjub Swowpnpmbbkp Q2 ol 33,911.0 | 1 339
71351540/19 wkubhjuiwh JEpwhuljonnipjuh fwowjnipobbkp Qz gpwid 472,275.0 ] 1 4723
71351540/20 |wbpubhiuiwl JEpwbuljonnipjub swowpnpiniibkp Q2 npwd 5,765.0 | 1 58
71351540721 nkubhjuywh (Epubuljnnnipjub swowjnipinibibkp Y] npul 199,608.0 1 199.6
71351540/22 ubpbhlwhwlb Jkpwhuljoynpuwb dwowjoenibbkp Ql gpul 485,981.0 1 486.0
71351540/23  |wbubpimywh (Epwhuljpnmpjub swowynipnbtkp qz npwy 22,430 1 2.4
71351540/24 wkpbpjuhwh JEpuwbulonmppub bwowynipymbbkp Qr npunl 139,796 1 139.8
71351540/25  |wbjubhlmljwh (Epwhuljannipjub dwouynpynichbkp V) pmyd 317,082 1 317.1
71351540/26  |nbpbhjuluh (Epubulnnnipjul dwowjnipymbbkp qQz ol - 1 .
71351540/27  [ubjbpjwlwl JEpwbulannipjuh dwowjnipnibbkp QL npud X 1 =
7135154028  |[wbhbhiwiwh Jipwbuhanoipjwh dwowpipjolbbp Q2 npuud : 1 “
71351540729 wkpubhjwjwl Jipwbulnnniejul dwownipnibhkp Qr npud ¥ 1 =
71351540/30 |wnbpubpiwlwb Jkpwbolonnipjwh swowjnipjochbkp 9z gpuyd 2 1 .
71351540/31 nbubhjuiwh {(Epwbuljonnipjub fwowjnipobbkp Q2 npud ¢ 1 =
71351540/37 |wkpbpjmijwh (Epwholjannipjuh swomympmbbkp qz npwd L 1 s
71351540733 [wbhbhjuiwh JEpubolonnipwl fwowpipmbikp a2 gpwd * 1 ]
71351540/34 wkubpjujwh JEpubuljannpjub dwowym pyodiikp Q.2 npud . 1 .
7135154035 [ukpbhijwiwh (Epwhulonnipjub dwowynpmbbkp Q2 npwd g 1 =
[71351540/36 | nbubpgmywh (Epwbulnnnipjul Swowjnipjobbkp Q2 npwi . 1 =
7135154037 [nbhbhjwiwh (Epwbulnnnpjwb wowynipjnbbbp az npwd ‘ 1 -
98111140/1 hEghbwhwihh bulngmippob Swomympyobbkp uu npwd 25,072.0 1 25.1
9811114072 bEnhlwhuw bl hulnpoipywh dwewynipyobibkp Ul npud 46,573.0 1 46.6
9811114073 bEphlwlwhb hulngoipjul Swmojnpaiiikp Uu npwd 16,917.0 1 16.9
9B111140/4 bEnplwhw)hb huljnpnipjwh Swowjnipjmbbip Uu npwd 37,4420 1 374
[GBIT1140/5 bEnhbwhw;hb bulnnoipjwh bwowjoip;ebbkp Uu npu 49,393.0 1 49.4
9BI11140/6 bEnhlwljwhb huljngoipyub Swowjnipynibbkp Uu gpmd 27,725.0 1 27.7
OBIT1140/7 bEnhlwhwhb hulanoipjwl Swowjnipymbbkp Uu fpwid 64,560.0 1 64.6
OBTI1140/8 hEnpbwhuw b huljnpmpjwh Swownpmbikn Uu gpwi 10,751.0 1 10.8
OB111140/9 hEnpbwlwhl hulngnipjwh Swnwynipymbibp Ul npud 144,125.0 1 144.1
98111140/10 [hEnhbwhwhb buljngnipjwh dwpwnipyaihikp Uu qpud 84,208.0 : 842
98111140/11 bEnphwlw;pb buljnynipjwl dwowjnipymbbkp Uu npud 93,446.0 1 93.4
9B111140/12  [bEnhlwluwyhb huljpnnippul dwowynipymbikp Uu npuyd 37,116.0 1 37.1
9B111140/13 bEnhbwlw)hb buljnqoipjwh dwowjoip;olibkp Uu npud 49,902.0 1 499
98111140/14  |[hknhbwlunhb buljnpnipywb dwruympymbbkp uu pud 72,096.0 1 721
9BI11140/15 bEnhhwluwpb huljngoipywh dwownpmbbip Uu npwd 55,506.0 1 55.5
98111140/16 htnhtwiwiht holpynipjub Swownipimbibp uu gpunk 121,463.0 1 1215
98111140/17 hEnhbwlhw pb hulnyoipjwb dwowjnipimbbip Ul pud 53,865.0 1 53.9
[9BI11140/18 bEnhbwhwhb bulanoipiub Swowjnipjobbkp Ul gpund 99,717.0 1 99.7
98111140/19 bEnhbwhmjhb bulngnpjwh bwowynipyobikp Ul gpwd 10,173.0 1 10.2
98111140720 bEnhbmbuwpl hulngnipjumb dwow)nipjaihukp Uu npwd 141,683 1 141.7
98111140721 hhqj:hmllm;llll ]mllnqn\plmh I:umuljnlp]nlhiﬂzp vu gpud 38,020 1 38.0
[98111140/2Z  |hEnpuwlwhl bufenoipjwh Swowjnipyobbbp Uu npud 97,387 1 97.4
98111140/23  |hbnhbwlwihb buljpyoippwb dwownipmbukp Uu gl 41,938 1 419
98111140/24 hEnhlwhwhb buljngopjub Swowynipymbbbp Ul gpad 79,270 1 79.3
[OB111140/25  |hEnhbwhunhl bufnynipjul dwownipyocikp Uu npwd ¥ 1 .
981711140726  |bEnpbwlwhb buljnynipjul dwowynipjmihkp Ul gpwd - 1 :
98111140727 bEnhtwlw;hl hulngmpjub dwowjnipndibkp Ul gpund . 1

OBI11140/28 htnhbwlwiht huljnympjwt Swowmynipjotokp Ul npud & 1 =
[OB111140/29 hEnhtwhmhl bungnipymb dwownipymbhkn Uu gl * 1 "
98111140/30 bEnphwlwpb huljnym pywb bwownipypdbbEp uUu npund ¥ 1 <
08111140737  [bEnhlwluhb hulnqntpjul Swowjnipnibbtn Uu npwd 2 1




98111140/37  [hEnhtwhu)ph bufjnqoippub Swomnip ik Uu npud . 1 J
98111140/33  [hEnhbwlw)pl buljnqoipjul Bwmonipnlttp uu npwd ® 1 s
SBIT1140/34 bEnhiwlw)pl hulnqoipyuh Swowjnipnitatp Uu npwy . 1 ]
SBTTTT40/35  |hknpuwhuyt bulnoipwh Swnmapebhty Tu npwd 1 1 .
98111140/36  [hEnpbwlw)pb beljngoipjul Swownipymuatp Uu npud . 1 5
[SB111140/37  |hbqhlhwhuypl huljnnoipjuh dwowjnipmibbin Uu npwd - 1 =
98111140/38  [hbnhbwhwjhh buljngnipjwh dwownipyniblbp Uu npuwd 6,728 1 67
(98111140739 hknhbwlwhb bulnnoippwh SunwjnipnbhEp Uu pput 97,387 1 97.4
98111140/40  [hEghbwluyhl buljannipjwh Swowmipnbbtp uu npwil 38,020 1 38.0
[GBITIT40/41 |hbnpbwlujht buhonnip)wh Swmujnipablp Uu apud 10,173 1 10.2
98111140/42  [htnhtwlwhb buhannipjuh dwowmpmbhkp uu gl 141,682 1 141.7
98111140/43  [hbphbwluw)hb buljnnnipjwh Swompnipnitlbp vu ppuwy . 1 =
98111140/44  [bEghlwljwyhh huljnnoipwh bunwjnipjniuukp uUu npund Y 1 =
98111140/45  [hEqhbwfuwjht huljnnnipjwh Swowjnipaibabp Uu gpud e 1 s
98111140/46  |bEqhbwhwjhb huljnnntpjwh dwowmp)niutp Uu gpund s 1 ¥
98111140/47  [hEnhbwiwhl huljngnipymb bwownipjohtp Uu gpund b 1 &
|98111140/48 | bEqhbwlmpk huhonoipyuh Swownipynbkp Uu npuid - 1 ¥
[98T11140/49 | bEnhbwfuyhb huynnnipjwl Swowoipjaiuttp Uu pud i 1

98111140/50  |hknhbwlw)hb bulngnipywh dwownpniiEp Uu npund . 1 .
9811114057 [hEnhbwluwjhb huljoqoipjuk Swewjnipnibikp Ul pund ' 1 .
98111140552 |hbphbwfu;hb Bulnnoipjwh Swownipjniitkp Uu npud . 1 '
9811114053 |bhnhbwhu;fib huljnnnipjwh Swownip)niutkp Uu gpwd y 1 =
98111140/54  [hbnhlwlw)hb buljngoipjub SuwownipabEn Uu gpwid 1 -
98111140/55  |bkghbwhuw b buljnnoip)wb Swownip)atittp Ul npund . 1 0
98111140/56 | hEnhbwlhu;jhl buljnnnip)uh Swomjnipeibtkp Uu npund s 1 1.
9B111140/57  |hbnhbwhwjhl buljnqoipjwh dwow)n pjniilbp Uu. gpuwd . 1 ¥
[98111140/58 hEnhwluyhl hulogoippuh SwownipinhbEp Ul pud il 1

[9BTT1140/59 bEnhiwluht huljngnipjul Swowynipnbikp Uu npund . 1 =
9B111140/60 hEnhuwluwyph bulspoipjwlh SwouynipnibhEp Uu npud ¢ 1 *
98111140/61  |hEnhbwlwihb hulngoipjub dwownipynibhtp uUu gpwyd 3 1 N
7135154038 [wbubpfuluwlh hulnnnipjwh wow)nip)eitikp Q2 fpud ! 1 H
7135154039 Jubjubhjwlwl hufjnqoippub Sunwnipmiutp Q2 npund * 1 g
71351540/40  [inbjubphwlwh bufonmipul bunw)niem it qz puy * 1 *
71351540/41  [wbjbpjulwh hulnqoipjmt Swowjnipniiikn qz npwyd " 1 *
71351540/42  fwkpbhiulwb buljngaipjwb dwowjnipniiitip Qz fpud N 1 b
71351540/43  [ukjubpiwlwl buljnqnipjwh bwowjnip)adibp Gz npwd 1 =
71351540/44  |[wEpbRjulul Buloqoipwh Swowjnipniubbp [ gpud = 1 .
71351540/45  [wbkpbpjwhwb buljannipwh bwowmpobiEp Q. pwy £ 1 2
71351540/46  [ukjbhw{wh huljannipjul wnwjnipnitiGEp G2 npud $ 1 N
71351540/47  |ubkjbpjwiwb belonnipjuwh dwownipmbhEp qr npud . 1 -
71351540/48  [ukjbhjwhwl hulonnipjuh Sunwnipnbibtp Q. ppuwd . 1 .
71351540/49  [unkpbhfwlwh bulonoipjwh bunw)nipniditp (¥ ppwy ' 1 H
71351540/50  [wkulipjuluwl hujnnipjwh Swunwnip)aibibp 9z punl 1 *
71351540/51  |wkjubhjwlwl huljoqmpjwlh dwnwjnipnibbtp Q2 gpud - 1 B
71351540/57  [unkubpjuwljwh buhonmpyuh Suowjnipndbbp Q7 gpuud g 1 s
71351540553 [wbubpjuwlwh hulnnepjuh Swow)n otk az gpud - 1 ¥
71351540/54  nkjubhjwlwh huinnmpjul Sunwnip)nibibkp qQr gpund X 1 =
7135154055 [inkubhjwhwh bulnnopjwh dwrwjnipmbbEp Q) npwd g 1 .
71351540/56  |wkjubhjulwh hunnoipjwl Swownipn bk Q. npud % 1 .
7135154057 [wkubpjulwh bulogoipjwh dwowjnipnbbEp 9z qpwd x 1 =
71351540/58  |wkptpjuljwh bulnyoipjull Sunwnipmiubbn Qr npund 1 *
71351540/59  [wkubplwlwh bulngoipjwl SwowjnipnibhEp q2 npwd & 1 L
71351540/60 [wkpbhijwhwh bulogoipiub Swownipndbbp qz npund » 1 &
[71351540/61 wkpbpjulwl buljngoipywh dwoupnieniiEn Q2 gpud * 1 »




